Fill in the boxes using symbols (+, X, —, +).

MISSING OPERATORS

Name

Score

OF:55

1) 24+6 4=8 2) 9+12=+3 7x8=-43
3) 8 2-5+4=15 4) 025 25-31=-3

5) (2x5) (13-7)=16 6) 11-15x12 6=-19
7) 41415 19=37 8) 7+7 4-3x22=-7
9) 11.2-44 35=-4.2 10) 81 3¥x2=18

11) 18+9x2 8=-4 12) 1.3 2.8+ (6.5 —4.5)=6.1
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Fill in the boxes using symbols (+, X, —, +).

MISSING OPERATORS

Answer key

Name

Score

OF:55

1) 24+6 |+ 4=38 2) 9+12+3|-|7x8=-43
3) 8/ x|2-5+4=15 4) 0.25 25-3.1=-3

5 (2x5)|+|(13-7)=16 6) 11-15%x12|+ [6=-19
7) 41+15| - |19=37 8 7+7|+|4-3x2"=-7
9) 112-44|x|35=-42 10) 81|+ |3°%x2=18

11) 18+9x2| - | 8=-4 12) 1.3 2.8+ (6.5 —4.5)=6.1
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